



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{3} =$$



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{1}{2}\right) + \frac{1}{4} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \frac{7}{12}$$

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{5}\right) = \frac{126}{5} = 25\frac{1}{5}$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{83}{5} = 16\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{3}{5} = \frac{152}{45} = 3\frac{17}{45}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{1}{6} = \frac{29}{18} = 1\frac{11}{18}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{1}{4}\right) = \frac{5}{16}$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \frac{1}{6} = \frac{25}{6} = 4\frac{1}{6}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \frac{2}{5} = \frac{27}{5} = 5\frac{2}{5}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} = \left(-\frac{39}{100}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{3}{5}\right) = \frac{32}{45}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{6} = \frac{35}{48}$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{3} = \frac{28}{3} = 9\frac{1}{3}$$